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1. Attempt any three of the following :

(a) Discuss the purpose of defining dynamic array in a
computer program. How is it different from static
array ?

(b) Define ADO record set objects in database

programming. Give suitable examples.

(c) Explain the difference between WHILE and
Do...... WHILE lobp with an example.

(d) Discuss the different data types‘used in a
programming language ? Explain each data type with

an example.
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2. Attempt any two of the following :

(a) Discuss Encapsulation, Polymorphism and

Inheritance in object oriented programming.

(b} Discuss different type of errors occur in a program.
Explain the differences between Resume and
Resume next in an error handler in call list.

(c) What do you understand by classes in object oriented
programming ? Differentiate between Base classes
and Derived classes.
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3. Attempt any two of the following :

(a) Write an appropriate event and function procedure

to create a Fibonacct series up to n numbers.

(b) Write a function procedure to determine an Integer
is a prime number or not. The function should take
an Integer as argument.

(c) Write an appropriate event and procedure to compute
the value of x2. y2. The function should accept two
integers (x, y) as arguments.
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4. M/s ABC Ltd. maintains a database of its salesman and
sales order details in the following form :

Table name : S-Master

Column Name Data Type Description

S-Name Text (width : 20) = Name of the Salesman
' City Text (width : 10)  Name of the City |

Pin Code Number * Pincode

Sales Number Total sales achieved

Table name : S-Order

Column Name Date Type Description

Order Date Date Date of order received
S-Name Text (width: 20)  Name of the Salesman
Commission  Number Commission received

Form SQL strings for the following quenes :

{a) Retrieve the order details from the S-order list who
ordered the items before 31st December 2008.
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(b) Find the list of salesman along with the city and

Pincode (grouped according to the city).

(¢) Retrieve the records of order details whose delivery
date is after 31st January 2008.
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